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Lösungen

Aufgabe 1

a) Parameter: λ1 = 11 λ2 = 1 =⇒ yallg(x) = C1 · e11x + C2 · ex

Ansatz für die Partikulärlösung:

ypart(x) = K2x
2 +K1x+K0 → Ableitungen bilden und in Funktion einsetzen.

Koeffizientenvergleich ergibt: K2 =
3

11
,K1 =

94

121
,K0 =

1667

1331
→ ypart(x) =

3

11
x2 +

94

121
x+

1667

1331

=⇒ yallg,inhom(x) = C1 · e11x + C2 · ex +
3

11
x2 +

94

121
x+

1667

1331

b) Parameter: λ1 = λ2 = −4 =⇒ yallg(x) = (C1x+ C2) · e−4x

Ansatz für die Partikulärlösung:

ypart(x) = Cx2 · e−4x → Ableitungen bilden und in Funktion einsetzen.

Koeffizientenvergleich ergibt: C =
1

2
→ ypart(x) =

1

2
x2 · e−4x

=⇒ yallg,inhom(x) = Cx2 · e−4x +
1

2
x2 · e−4x

Aufgabe 2

- entfällt -

1


